Solution of Ordinary differential Equations Single step by Taylor's series method: Consider the first order differential lauation  $\frac{dy}{dx} = f(x,y), f(x_0) = y_0$ If y(n) is the solution, then  $y(x) = y_0 + (x - x_0) y_0' + (x - x_0) y_0''$  $+ (2 - 20)^3 y_0''' + \cdots$ W· k· 7 h = 2 - 20  $y(x) = y_0 + \frac{1}{11}y_0' + \frac{1}{2!}y_0'' + \frac{1}{2!}y_0''' + \frac{1}{2!}y_0''' + \frac{1}{2!}y_0''' + \cdots$ Prob! Find the taylor's series method.

the values of y at n = 0,1 and 2:0.2 " commet to four decimal places from  $\frac{dy}{dy} = x^2y - 1$ , y(0) = 1. Here 20=0, 40=1

 $g' = \chi^2 y - 1$ ,  $y_0' = 0 - 1 = -1$  $g'' = 2\alpha y + \alpha^2 y'$ y01 = 220 y0 + 22 y0 = 2(0)(1)+(0)(-1) = 0  $y''' = 2(xy' + y) + x^2y'' + 2xy'$  $= 4\pi y' + 2y + \pi^2 y''$ 90" = 4 20 y0 + 240 + 20240" = 460) +2(1)+0 =  $y'' = 4 [xy'' + y'] + 2y' + x^2y'''$  $= 6y' + 6xy'' + x^2y''_2 ...$  $y_0^{1\prime} = 6 y_0^{\prime} + 6 \chi_0 y_0^{\prime\prime} + \chi_0^{\prime\prime} y_0^{\prime\prime} - 6$ Taylor's series of y(n) about ro=0 is given by,  $y(x) = y_0 + (\frac{x - x_0}{1!}y_0') + (\frac{x - x_0}{2!}y_0'')$  $+ \left(\frac{\chi - \chi_0}{3!}\right)^3 y_0''' + \cdots$ Hore 76= 0  $y(x) = y_0 + \frac{x}{2}y_0' + \frac{x^2}{2}y_0'' + \cdots$ 

$$= 1 - 0.1 + 0.0003 - 0.00025$$

$$\boxed{9(0.1) = 0.90005}$$

$$y(0.2) = 1 - 0.2 + (0.2)^{3} - (0.2)^{4} + ...$$

Taylor's series (cont..)

2. By Taylor's series find 
$$y(0.1)$$

8  $y(0.2)$  given that  $\frac{dy}{dy} = x^2 + y^2$ ,

 $y(0) = 1$  comed to four decimal places:

8011: Given  $y' = x^2 + y^2$ ,  $y(0) = 1$ 
 $x_0 = 0$  &  $y_0 = 1$ .

 $y' = x^2 + y^2 - y_0' = x_0^2 + y_0^2 = 0 + 1 = 1$ 
 $y'' = x^2 + y^2 - y_0' = x_0^2 + y_0^2 = 0 + 1 = 1$ 
 $y'' = 2x + 2yy'$ 
 $y'' = 2x + 2yy'' + 2yy''$ 
 $y''' = 2 + 2yy'' + 2y'y'$ 
 $y'''' = 2 + 2yy'' + 2(y')$ 
 $y'''' = 2 + 2yy'' + 2(y')$ 
 $y'''' = 2 + 2yy'' + 2yy''' + 4y'(y'')$ 
 $y'''' = 2y'y''' + 2yy'''' + 4y'(y'')$ 

$$y_{0}^{(v)} = 2y_{0} y_{0}^{(v)} + 6y_{0}^{(v)} y_{0}^{(v)}$$

$$= 2(1)(8) + 6(1)(2)$$

$$= 28$$

$$w \cdot k \cdot \vec{1}$$

$$y = y(x) = y_{0} + (x - x_{0})y_{0}^{(v)} + (x - x_{0})^{2}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{2}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{2}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{2}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x - x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x \cdot x_{0})^{3}y_{0}^{(v)}$$

$$+ (x \cdot x_{0})^{3} y_{0}^{(v)} + (x$$

3. Evaluate 4(0.1) and 4(0.2) Cornect to four decimal places by Taylor's series method. if Y(x) Satisfies y'= xy+1, y(0)=1. soln: Given y'= xy+1, y(0)=1 Here 20=0, 40=1 y' = xy + 1  $y_0' = x_0y_0 + 1 = 1$ y'' = xy' + y $y_0'' = x_0 y_0' + y_0 = 0 + 1 = 1$  $y''' = \alpha y'' + y' + y' = \alpha y'' + 2y'$  $y_0''' = \alpha_0 y_0'' + 2 y_0' = 0 + 2 \times 1 = 2$  $y^{1v} = xy^{11} + y'' + 2y'' = xy^{11} + 3y''$  $y_0^{1V} = \alpha_0 y_0^{111} + 3y_0^{11} = 3(1) = 3$ W. K. I  $y(\pi) = y_0 + (\pi - x_0) y_0' + (\pi - x_0)^2 y_0''$  $+ (\alpha - \alpha_0)^3 y_0^{111} + \cdots$  $y(x) = 1 + \frac{2i}{1!}(1) + \frac{x^2}{2!}(1) + \frac{x^3}{2!}(2)$ 

$$4\frac{4}{4!}(3) + \cdots$$

$$9(0.1) = 1 + 0.1 + (0.1)^{2}(1) + (0.1)^{3}(2)$$

$$+ (0.1)^{4}(3) + \cdots$$

$$= 1 + 0.1 + 0.005 + 0.0003$$

$$+ 0.00001$$

$$y(0.2) = 1 + 0.2 + (0.2)^{2} + (0.2)^{3}$$

$$+ (0.2)^{4} + ...$$

$$= 1 + 0.2 + 0.02 + 0.0026$$

$$+ 0.0002$$